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2. 

3. 

4. 

5. 

() What is an expert system. 

(a) 

What is a computational function in FOPL and its 

benefits. 

(a) What is a heuristic function and how is it designed. 

(b) Explain how will you test whether a machine is 
(8) intelligent or not. 

2 

4 

PART-B 

What are the issues in the acquisition of knowledge for 
an Intelligent system. 

8 

(b) Apply DFS abd BFS on the following problem. (9) 

3 

6 

Initial State 
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5 

1 

4 

(1.5) 

2 

2 

5 

(1.5) 

Final State 

3 

(7) 

6 

(6) 

(a) Using truth table, prove the following logical ( 
equivalence. (pAq)-’p(q-’r). 

(b) Explain and give algorithm for resolution of first order 
predicates 

(7) 

(a) Explain and give algorithm for Unification step 
involved in resolution. 

(8) 

(7) 

6. 

(b) Explain how natural language semantic processing is 
done. 

(a) Write a sort note on Rote learning. 

(b) Give architecture of an Expert System. 

SEND 

+MORE 

7. (a) Solve the following cryptoarithmetic problem by 
applying constraint satisfaction algorithm. 

MONEY 

(8) 

311603/320/111/191 

(7) 

3 

(8) 

(b) What do you mean by Discourse and Pragmatic 
processing of a natural language sentence. 

(9) 

(6) 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

